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— . AT S EF AR A EAE o Guess the values of the unknowns in the following sequences.

(a) 1,4,7,10,x, y, ...

(b) -2,-4,-6,-8,x,, ...
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(C) x,2,4,8,16,y, ..
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(d) —6561,x,-729, -243,y, .

(e) -1,3,-9,27,x, y, ...
(f) 25,36,x,64,81,y, ..

(g) 1,2,4,7,11,16,x,y, ...

= NSRS o, B—EEIRYERIE KL EFIAYEE 12 THe In each of the following, «, is the

general term of a sequence, find the 12th term of the sequence.

_n(n+1)
(a) an - 2

(n+3)(28—n)
(b) a, =" ——

n’(n+1)°
C =
© o ="

-n’ +3n° -16
d _—nton —16
(@ o ="
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= . BT RE - Complete the following questions.

1. 250 %(7—3?1) B8y #ETE o Itis given that %(7 —3n) is the general term of a sequence.
(a) SKFZEHINE 13 H -

Find the 13th term of the sequence.
(b) 20 BAZEIIHIEF—IH ? IR EE -

Is 20 a term of the sequence? Explain your answer.

2. 5% a, F—EEIHVEE - 241 a,,=2a,,-a, ° Let a, be the general term of a sequence. It is
giventhat o, ,=2a, ~a,

(a) = a=3 KX a,=53K a,
If ¢ =3 and a,=5, find a, .
(b) & a,=31 K a,=36 3K q
If a,=31 and «,=36, find a .
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(a) x=13,y=16

(b) x=-10,y=-12
() x=1,y=32

(d) x=-2187,y=-81
(e) x=-81,y=243
(f) x=49,y=100
(g) x=22,y=29

(a) 78
(b) 40
(c) 6084
(d) -82

1. (a) —40

(b) A& No
2. (a) 19

(b) -9
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